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Problem quickname: 1454

1)
Quick:
1454

Calculate the result.

a) 0.42 ÷ 6 = 0.07 b) 0.68 ÷ 5 = 0.136 c) 0.63 ÷ 1 = 0.63
d) 0.13 ÷ 9 = 0.014444444444 e) 0.92 ÷ 2 = 0.46 f) 0.64 ÷ 8 = 0.08
g) 0.47 ÷ 3 = 0.156666666667 h) 0.89 ÷ 1 = 0.89 i) 0.63 ÷ 2 = 0.315
j) 0.96 ÷ 10 = 0.096

2)
Quick:
1454

Calculate the result.

a) 10.41 ÷ 7 = 1.487142857143 b) 9.19 ÷ 4 = 2.2975
c) 2.14 ÷ 5 = 0.428 d) 7.42 ÷ 8 = 0.9275 e) 6.97 ÷ 6 = 1.161666666667
f) 6.78 ÷ 7 = 0.968571428571 g) 9.61 ÷ 2 = 4.805

h) 5.85 ÷ 8 = 0.73125 i) 4.87 ÷ 4 = 1.2175 j) 6.25 ÷ 4 = 1.5625
3)

Quick:
1454

Calculate the result.

a) 0.005 ÷ 9 = 0.000555555556 b) 0.005 ÷ 1 = 0.005
c) 0.009 ÷ 13 = 0.000692307692 d) 0.001 ÷ 1 = 0.001
e) 0.005 ÷ 15 = 0.000333333333 f) 0.009 ÷ 17 = 0.000529411765
g) 0.002 ÷ 2 = 0.001 h) 0.008 ÷ 10 = 0.0008
i) 0.003 ÷ 19 = 0.000157894737 j) 0.008 ÷ 13 = 0.000615384615
4)

Quick:
1454

Calculate the result.

a) 0.0044 ÷ 6 = 0.000733333333 b) 0.0065 ÷ 11 = 0.000590909091
c) 0.0055 ÷ 1 = 0.0055 d) 0.0064 ÷ 12 = 0.000533333333
e) 0.0038 ÷ 4 = 0.00095 f) 0.0083 ÷ 10 = 0.00083
g) 0.0025 ÷ 19 = 0.000131578947 h) 0.0048 ÷ 7 = 0.000685714286
i) 0.0099 ÷ 4 = 0.002475 j) 0.0075 ÷ 18 = 0.000416666667

Good Luck!
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